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// 7 5 ZBusyo
public class Busyo {

public String busyoMei;

public int[] syu = new int[11];

public int max;

public Busyo(String busyoMei) {

this. busyoMei = busyolei;
}

public void syukei(int sei, int hou, int ji) {
int 1 = hou + sei * b;
syuli] = (1) ;
syul0] = syul0] + 1;
if(Gi > max) {
2
}

}
public void hyoji() {
System. out. printf("%-3s¥n", [ (3) ]:
for(int 1 = 1; 1 <= 10; i++) {
System. out. printf (" %2d", syulil);
if(4 = 5) {
System. out. printlnQ;
}

}
System. out. printlnQ);
System. out. printf (" AZGGEt 1 %3d  mAEEIRFE(5)) © %3d¥n¥n", | (4) | max);

}

// 7 5 ZTukinTyosa
import java. 10. BufferedReader;

l

public class TukinTyosa {
public static void main(String[] args) throws IOException {

String[] buMei = { "", "(RBES", “EZEH", RERE )
Busyol] bu = new Busyol4];
for(Gnt m = 1; m <= 3; mtt) {

bulm] = new Busyo(buMei[m]);
}
BufferedReader fileIn = new BufferedReader(new FileReader("tukin.csv'")):
String line;
while((line = fileln.readLine()) != null) {

String[] str = line.split(",");

int cod = Integer. parselnt(str[0]);

int sei = Integer. parselnt(str[1]);

int hou = Integer. parselnt(str[2]);

int ji = Integer. parselnt(str[3]);

(5) | syukei(sei, hou, ji);

}

fileln. closeQ;

Scanner sc = new Scanner(System. in);

System. out. print("—EZ R LI VB - FE2 AT = ");

int ncod = sc.nextIntQ);

while(ncod !'= -1) {
bulncod]. hyojiQ;
System. out. print("—EFX/R LI VWEEI - F 2 AT = ");
ncod = sc.nextIntQ;

}

sc. close();
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Option Explicit
Dim Bmei(4) As String, Smei(20) As String, Bunten(20) As Long, soe As Long

Private Sub UserForm Initialize(Q)
Dim Tmei(3) As String, NTcode As Long, Dban As Long, Tcode As Long, Scode As Long, Suryo As Long
Dim Zenten(20) As Long, i As Long, Bkei As Long, Zkei As Long, j As Long

Tmei(1) = "Hth9)E": Tmei(2) = "JLJE": Tmei(3) = "FEIE"
Bmei(1) = "2 % « E¥": Bnei(2) = "7 4 v ¥ a2 ¢« I —F": Bnei(3) = "F¥—1+": Bnei(4) = "ZT Ofh"
Smei(l) = "AIWEF—5": Spei(2) = "ZXA F—1"

l
Smei(19) = "I xRA b —2x": Smei(20) = "RKyr—-—v "
TextBoxl. Text = "": Label2.Caption = "": ~ LabelT7.Caption = "": Label8.Caption = ""
NTcode = InputBox ("Mt RIGEiOIEH = — 8 (1~3) 2 A"
Labell. Caption = Tmei(NTcode)
Open ThisWorkbook. Path & "Yuriage.csv" For Input As #1
Do While Not EOF(1)
Input #1, Dban, Tcode, Scode, Suryo
If Tcode = NTcode Then
Bunten(Scode) = Bunten(Scode) + Suryo
End If
Zenten(Scode) = | (1)
Loop
Close #1
For 1 =1 To 4
Bkei = 0
Zkei = 0
For j =1 To b
(@ ]=G -1 %5+ ]
Bkei = Bkei + Bunten(soe)
Zkei = Zkei + Zenten(soe)
Next j
Label2. Caption = Label2. Caption & & Chr(13) & Chr(10)
Label3. Caption = Label3. Caption & Format(Bkei, "#, ##0") & Chr(13) & Chr(10)
Labeld. Caption = Label4. Caption & Format(Zkei, "##, ##0") & Chr(13) & Chr(10)
Next 1
End Sub

Private Sub Z3#7_ClickO
Dim NBcode As Long, Haj As Long, Owa As Long, Max As Long, Skei As Long
Label6. Caption = "": LabelT.Caption = "": Label8. Caption = ""
NBcode = Val(TextBoxl. Text)
Labelb. Caption = Bmei(NBcode)
Haj = (NBcode - 1) * 5 + 1
Owa = Haj + 4
For soe = Haj To Owa
If Bunten(soe) > Max TFen
(4)

End If
Next soe
For soe = Haj To Owa
If Bunten(soe) = Max Then
Label6. Caption = Label6. Caption & "©"
Else
Label6. Caption = Label6. Caption & " "
End If
Label6. Caption = Label6. Caption & Smei(soe) & Chr(13) & Chr(10)
LabelT. Caption = LabelT7. Caption & Format(Bunten(soe), "##0") & Chr(13) & Chr(10)
Skei = Skei + Bunten(soe)
Next soe
Label8. Caption = Format([ (5) |, "#, ##0")
End Sub

Private Sub #&7_Click(
End
End Sub
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